Installation & Instruction Manual

Opera-J

(with MOD103)

Note: Read this manual carefully before installing the
operator and place this installation manual in an

accessible place near the operator. For future
reference record:

Model #
Date

Wiring Diagram #
Model #

Project No.

Project Name
Door No. #




2

IMPORTANT SAFETY INSTRUCTIONS

AWARNING

TO REDUCE THE RISK OF SEVERE INJURY OR DEATH, READ AND FOLLOW ALL INSTRUCTIONS.

Never allow children to operate or play with or near door.

Check to see that the operator is correct for the type, size of door and frequency of use per the operator
specifications.

3. |If the door system is near a residential area, or pedestrian traffic is expected near the door system,
additional equipment such as electric reversing edges, photocells, or similar devices must be installed
as part of the system to prevent entrapment.

Reversing devices appropriate to the application must be installed as part of the system.

5. Outdoor or easily accessible controls must be of the security type to prevent unauthorized use of the
system.

Place controls far enough from the door so that a user cannot touch the door when operating the controls.
7. Controls should be placed so the user has full view of the door when operating.

8. Always keep moving door in sight and away from people or vehicles until it is completely opened or closed.
NO ONE SHOULD CROSS THE PATH OF THE MOVING DOOR.

9. Ifaperson is trapped under the door, push the "OPEN" control button.
10. Do not over tighten a clutch to compensate for a damaged door.

11. Test door and service monthly. After adjusting the limit travel, retest the door opener. Failure to adjust the
door may cause death or injury.

12. KEEP DOORS PROPERLY BALANCED. See door owner's manual. An improperly balanced door could
cause severe injury. Have a qualified service person make repairs to cables, spring assemblies and other
hardware.

13. If possible, use the emergency release only when the door is closed. Use caution when using this release
with the door open. Weak or broken springs may cause the door to fall rapidly, causing injury or death.

14. You are responsible for assuring that the owner of the door system understands its basic operation and
safety. In particular, be sure the owner/end-user understands the location and operation of the manual
disconnect.

15. Point out to the owner/end-user of the door system that children or pets should not be allowed to play on or
near the door or any part of the system, and that the safety instructions supplied with this operator are the
responsibility of the owner/end-user.

16. Leave the installation and maintenance manual for this operator as well as any additional information
supplied with this operator or other components of the door system with the owner/end-user.

17. If you have any question about the safety of the door operating system, do not install the operator, contact us.

AWARNING

DO NOT CONNECT TO POWER SUPPLY WHILE INSTALLING, SERVICING OR ADJUSTING THE
ELECTRIC OPERATOR

NOT APPLICABLE FOR RESISDENTIAL USE. ONLY FOR INDUSTRIAL AND COMMERCIAL
APPLICATIONS




TABLE OF CONTENTS

Page

Y o =L O | (07 I [0 ] NN SRR 4
WEIGHT AND DIMENSIONS .....ooiiiiiiiiiiiiiititieieieieieeeieeeeeeaeaeeaaeaeae e abeeeeee e eessasssssesesss s s s s s e nsssssnbsrnnes 4
PRODUGCT APPLICATION. ..t ttttttttttttttttttaueteteasaaeseeeeseressseseseeesersssessessssssssessssaessssssssessssssssssssssssnnnsssssssssssssnes 5
DELIVERY OF OPERATOR ...ttt tttttetetetete et s tassaststs ittt s se st e sttt et 5 2 st 5 255 s b5 st s s s st s b st s st s b sbe s e bnbnbnnes 5
HARDW/ARE ...ttt e e b e ket n e e e bnbnbnbnne 5
INSTALLATION . ettt ettt ettt etttk skt s 8k s 5555 s s st ebnbnbnbnnen 6
ELECTRONIC CONTROL BOARD .....oiiiiiiiiiiiiiiiiiiiiiiiiieeetseseeeeeeesesesssese s ssssssssss s bsssbesssssssssssssssssnsnsnsnsnnnnnnes 13
EXTERNAL CONTROL WIRING DIAGRAM ....oooiitiiiiitititttteeeieteeeissessesesssesssssssssessssrssessssssessssssssnsssnensnnnnnne 14
PROGRAM SETTING ...ttt ettt ettt e e e s e e s s e et e e e e e e e s s s b e e e et e e e e s s snnbnre e e e e e s nnrnrnees 15
MODE SETTING . .. ottt oottt e e et et e et e e et e ottt ettt e e e e e ae ren e e e ren e eneaen e ees 16
DOOR LOCK SENSOR & FRICTION CLUTECH ....oiiiiiiiiiiiiiiiiee ettt reeen e e e e e 17
MAINTENANCE SCHEDULE .......outiiiiiiii s e s e e s s e s e e e e e e e e e e e e e e e e eaanas 20-21
EXPLODED VIEW OPEBIA-J ...etitititiieiiiiieteuuuetetunueuunensnenenesssssesetetssessrssssesssssssssasasssssssssssssssssssssnsssnnsssrersssmsnes 22
EXPLODED VIEW OPEIA-HJ ... ittt ebebebebebabseassbsbssssssassssssssssssssss s ssssnsssbebebnbnnes 23
SINGLE PHASE ECB WIRING DIAGRAM ....outitititi s a e a e e e a e e e e e e 24
THREE PHASE ECB WIRING DIAGRAM ... 25
SINGLE BUTTON RADIO CONTROL & RED & GREEN WARNING LIGHTS........ccoiiii e 27
© Warning lIgNtS SEQUENCE ... ...ttt e e e et e e et e e et e e et e et re e eaeaeenns 28

o Programming of warning lightS SEQUENCE.........ccu i e e e 28

o Connection of Red & Green lIghtS. ... ... i et e e e e e e e e e e e e 28

W AR R AN Y L e e e e e e e e 29



SPECIFICATIONS

GENERAL
SUPPLY VOLTAGE..........cccee e 115, 230 VAC single phase, 208, 460, VAC three phase
CONTROL VOLTAGE................... 24VAC class 2 transformer, 2 amp fuse type ACG
MOTOR Continuous duty
OPERATOR OUTPUT SPEED......... 41 RPM
NET WEIGHT (Operator only)......... 65 Lbs (29.5 Kg) For 1/2HP 115V Opera-HJ model
STANDARD WIRING TYPE............ C2-momentary contact to open and stop and

1/3, 1/2, 3/4, 1 Horsepower

DIMENSIONS
(Opera-HJ/Opera-J)

11.250
(286)

23.250
(591)

10.250
(260)
4.750
™ (121) ™
t2n 20.125

7.750 | 7.000 (511)

(197) (178) 3.375
8.677 €9
- |
(220) |

6.375
(162)  4.000
l (102)

15.500
(394)

I

23.750
(603)




5

OPERA: HEAVY DUTY JACKSHAFT OPERATOR

IMPORTANT: UPON COMPLETION OF OPERATOR INSTALLATION THIS MANUAL MUST BE GIVEN

TO THE END-USER.

1. PRODUCT APPLICATION

The model OPERA heavy-duty jackshaft operator is designed for use on commercial or industrial doors of
all types provided that the door has a shaft as basic driving element (doors with high lift, vertical lift, rolling
doors and grilles). All OPERA door operators are designed and constructed in accordance with UL325
Standard, and certified by CSA Laboratories.

2. DELIVERY OF OPERATOR

Upon delivery of your heavy-duty jackshaft operator OPERA, inspect the unit immediately for shipping
damage. Verity that you have received all the hardware parts mentioned in TABLE 1 and shown in Figure 1.
Other items may be present, such as radio controls or other types of optional equipment, if ordered. If any
item is missing or if there is evidence of damage, call the transport company first.

* Check to make sure that the available power supply to be connected to the operator is of the same voltage,
frequency, phase and amperage as indicated on the nameplate of the operator.

3. HARDWARE

TABLE1 STANDARD PARTS LIST FOR OPERA JACKSHAFT OPERATOR

PART # QTY DESCRIPTION

1 1 Pocket wheel hand chain (2X door shaft less 4 ft. (1.2m))

2 1 3-button open/close/stop push-button station

3 1 #50 connecting link

4 1 #50 roller chain x 4'(1.2m) or x 5’ when sprocket is 42 teeth or more.

5 1 ** Sprocket 50B_ x & " c/w set screws for door shaft

6 1 Sprocket 50B12 x &1,0 " c/w set screws for OPERA™ output shaft

7 1 Square shaft key 1/4" x 1-1/2" L for OPERA™ output shaft

8 1 Chain keeper for Opera-J only

9 4 3/8" x 1-1/4" bolts

10 4 3/8" washers

11 4 3/8" lock washers

12 4 3/8" nuts

13 1 Chain keeper for Opera-HJ only

O

/6 WARNING  ©)

TO PREVENT ENTRAPMENT,
DO NOT START DOOR DOWN UNLESS
DOORWAY IS CLEAR

AVERTISSEMENT

POUR EVITER TOUT COINCEMENT, NE
PAS ABAISSER LA PORTE TANT
k QUE L’EMBRASURE N'EST PAS LIBRE. /

Ensure that the Warning tag supplied with
the operator is properly fixed on the door
and it is visible while the door is moving

Figure 1 Hardware



4. INSTALLATION

All heavy-duty Opera-HJ/Opera-J jackshaft operators are tested and adjusted at the factory. When installing
your unit, please note that the cams are resting in the center of the cam-shaft.

The OPERA operator has a dual output shaft and may be mounted on either the left or right hand side of a
sectional door or on the hood of a rolling door (see Figure 2 and Figure 3). Place sprocket on either the right
or the left end of the output shaft according to the desired handing.

The Opera-HJ comes with a chain hoist located on the right or on the left of the operator. If handing requires

the chain hoist to be on the left (rolling doors, left operator hood mounting for ex.), it must be requested at the
time of ordering. Do not attempt to change handing of the chain yourself.

gﬁ ~ El :

EE
cla)

]

]

¥ &= v
¥ &= v
Figure 2 Left side Wall mount Figure 3 Right side Hood mount

4.1 IMPORTANT INSTALLATION INSTRUCTIONS

AWARNING

TO REDUCE THE RISK OF SEVERE INJURY OR DEATH, READ AND FOLLOW ALL INSTALLATION
INSTRUCTIONS.

1. Installation of this door operator must be done by a qualified installer.

Insure that the door is properly installed and works freely in both directions. Do not install the operator
until all door problems have been corrected. If necessary, oil all moving parts (chains, rollers, guides,
etc.).

3. Remove all old accessories (locks, bolts, etc.) before installing door operator.
4. Do not connect the operator to a source of power until instructed to do so.

5. Locate control push-button station within sight of the door, at a minimum height of 5 ft. (1.5 m) so small
children cannot reach it, and away from all moving parts of the door.



4.2 INSTALLATION OF OPERA OPERATOR

IMPORTANT NOTE: THIS OPERATOR MUST BE INSTALLED A MINIMUM OF 8 FT. (2.4 m) ABOVE FLOOR.

The OPERA has two sets of mounting holes: outside the frame for wall mounting and inside the frame for
hood mounting. To access inside mounting holes, lift control enclosure as shown in Figure 4.

- Pull on the holding rod,

- Lift completely and push up on the holding arm to lock it into place.

To unlock, simply lift control enclosure, pull arm and lower enclosure. Snap enclosure so as to have the rod
engaging on both sides of the frame.

Verify the correct position of the lever on Disconnect Switch.

3: Push

the holding 2: Lift the up the
rod control holding
box arm

Figure4  Access to inside of frame

To open the control box cover, loosen the screw at the base of the cover. If the cover cannot be fully opened, the
retaining arm may be used to hold the cover in other positions.

Figure 5 Control box cover opening

After installation, verify that there is no obstacle in the way when opening the control box cover. If so, it is
possible to remove the cover by cutting the hinge at it's thinnest point or unscrewing it from the box the before
putting the operator on the wall or hood (see Figure 6).



Remove the screw

Remove the screw

Figure 6 Unscrewing the cover from the control box

Locate the four mounting holes. The optimum distance between the door shaft and operator drive shaft is
between 12" and 15". Mount the OPERA unit by fastening it to the wall, bench or hood with 3/8" or 1/2" thru-bolts
or if the wall is of such construction so as to prohibit use of thru-bolts, lag bolts and shields of sufficient size may

be used. Do not tighten.

-

T3

ok

Figure 7 Mounting dimensions for wall or hood

A CAUTION

MAKE CERTAIN THAT OPERATOR IS PERFECTLY ALIGNED WITH DOOR SHAFT OTHERWISE
DAMAGE CAN OCCUR

1. Place the driven sprocket on the door shaft loosely and align it with the drive sprocket of the operator.

NOTE: If a chain spreader has been ordered along with your operator, see Figure 8 and Figure 9
below for installation.




COLLAR

}o } DOOR SPROCKET*\\\ [ FLANGE BEARING
©) =
o
DOOR SHAFT

AL HEX HEAD BOLT
3/8”—16UNCx1”

f ”
3/8” LOCK WASHER! l 3/8” FLAT WASHER

i
H‘
‘ i
kg
| A/ﬁ |
|
CHAIN ‘ 1
|
| |
e
OPERATOR SHAFT i FLANGE BEARING
|
|
=t 12
|
LUl

COLLAR

3/8” HEX NUT

v «
\ ) \ ‘
} % } 3/8” FLAT WASHER
U

0

| |

OPERATOR SPROCKET —

Figure 8 Chain spreader Figure 9 Chain spreader mounted on door and
operator shafts

Lock the drive and driven sprockets in place by inserting the keys and tightening their respective set
screws.

Connect the sprockets with the drive chain, shorten to a suitable length and join together with the chain
link provided in the hardware bag. To shorten the chain, punch out the pin that will leave an inside link
nearest to the desired length. Connect the chain around the sprockets using the chain link (Figure 10).

Figure 10 Chain link

Slide the operator to tighten the drive chain and then firmly tighten the mounting bolts. Check the
tension on the chain and the set screws on the sprockets (there should be no more than 1/4" slack
when chain is depressed between sprockets

Opera-HJ: Run hand chain through the pocket wheel and through the chain guide outside the frame
(Figure 11), allow both ends to hang down toward the ground and cut hand chain, if necessary, so that
both ends are approximately 2 feet (0.6 m) from floor. Connect both ends of hand chain.

The operator is also built to receive a quick disconnect in case of emergency egress. Pass the housing
of the cable of the emergency egress control through the holes provided on the frame of the operator
referring to (Figure 13) on page 10. Activation of the quick disconnect keeps the machine disconnected
mechanically and electrically in the manual operation.

Opera-J: link the disconnect chain at the key ring or hook located at the extremity of the disconnect pull
cable (Figure 12) Place the Opera-J chain keeper so that, when pulled and engaged, the disconnect
chain keeps the machine “disconnected” and in the manual position.



10

A CAUTION

BEFORE PULLING HAND CHAIN THROUGH POCKET WHEEL OR LIFTING THE DOOR DIRECTLY BY HAND,
PULL CAM PLATE AND SPIN CAM NUTS TO CENTER OF LIMIT SHAFT SO AS TO BE SURE THE CAMS ARE
NOT BEING MECHANICALLY DRIVEN THROUGH THEIR NORMAL LIMIT SWITCH END POSITIONS.

Keyring
or
Hook

Figure 11 Installing hand chain on Opera-HJ Figure 12 Installing disconnect chain on Opera-J

Attach end of egress
cahle to disconnect lever

Secure position of
cable with two
adjustment collars

Figure 13 Installation of Emergency Egress device on OHJ




11
4.3. LIMIT SWITCHES

AWARNING

TO AVOID THE DANGER OF POSSIBLE DAMAGE TO THE DOOR AND OPERATOR, TRAVELLING CAMS
MUST BE ADJUSTED TO THEIR APPROXIMATE POSITIONS BEFORE MANUALLY OPERATING THE
DOOR OR BEFORE APPLYING POWER TO THE OPERATOR.

Only 2 limit switches are used in operators built with an Electronic Control Board. One for the “Open” side
and one for the “Close” side. No advanced Open or Closed limit switches is used. The microprocessor

with the built-in logic replaces the advanced Open and Closed limit switches.

“Open Position” cam Cam retaining plate

"Close Position" cam

1
!

“Opent limit switch - 7

Figure 14 Limit switches

5. ADJUSTMENT OF LIMIT SWITCHES

AWARNING

NEVER PLACE HANDS OR TOOLS INSIDE OPERATOR OR NEAR DRIVE MECHANISM UNLESS POWER IS OFF

1. Open the cover of the electrical enclosure.
Note: Turning the cam towards the center on the limit shaft increases door travel.
Turning the cam towards the limit switch decreases door travel.

e  Open limit switch adjustment:

2. Manually raise the door to a nearly opened position or desired open position.

3. Pull the cams-retaining bracket from the Open side and rotate manually the Open cam (Figure 15)
until the cam activates the limit switch sufficiently so as to hear the switch and the OPEN limit light is ON.

4. Release cam-retaining bracket and make sure that the bracket engages in the slots of both cams.

e Close limit switch adjustment:

5. Manually lower the door to a nearly to 6” above the ground.

6. Pull the cams-retaining bracket from the Close side and rotate manually the Close cam (Figure 15)
until the cam activates the Close limit switch sufficiently so as to hear the switch click the CLOSE limit
light is ON.

e Testing door electrically:

7. Upon completion of all wiring connections, use the wall push buttons (or on board buttons for ECB), to
run the door electrically and check if it is stopping properly to fully open and fully close positions.

e Fine adjustment:

If door is not opening or closing properly or if there is a gap between the door and floor, re-adjust the
close limit switch.

Note: One (1) on cam is equal to about %2” on the door travel.
For close position:

Adjust one notch at a time until the close limit switch is properly adjusted and the door stop smoothly on

closed position.
8. Once the adjustments are completed, close the control box.




12

5.1. ADJUSTMENT OF LIMIT SWITCHES
This unit is provided with ACCU-CAM ® for precise and quick one-handed adjustment feature.

/ Pull the cams-retaining bracket first v

> and then turn cam for limit adjustment (
Open Cam \ Close Cam
(Open side) : J k (Close side)

= s ==

Figure 15 Adjusting the limit cams

6. MINIMUM SUGGESTED WIRE SIZE FOR CONTROL CIRCUIT

The control circuit operates at 24 VAC. Due to the resistance in the wire used to carry the control circuit
voltage, it is important to use the appropriate wire size with respect to the distance between the operator and
the push-button station.

Below is a chart (TABLE 2) indicating the minimum recommended wire size with respect to the total
distance between the operator and the push-button station. DO NOT exceed the maximum distance. If
there are several push-button stations in series you must ADD all these distances before selecting the
appropriate wire gauge for your operator.

If the wire gauge is not suitable for the distance, problems in operation will be encountered such as chattering
relays and contactor, premature wear of the contacts and possible tripping of the motor's thermal protection.

If a greater distance is required, a long distance interface module is suggested (consult factory).

When large gauge wire is used, a separate junction box will be needed for operator power connection (not
supplied).

All power wiring to the operator should be installed by a qualified electrician and may vary with respect to

conduit size and type as specified in the National Electrical Code, Article 430, allowing 5% voltage drop.
Power must also be connected in accordance with local codes.

TABLE 2 WIRE SIZE vs. DISTANCE

24 VAC CONTROL WIRING
Minimum suggested Maximum distance between operator and all
Wire gauge Push-button stations
(AWG) feet (meters)
22 50 (15)
20 100 (30)
18 150 (45)
16 250 (75)
14 350 (105)
12 450 (135)




13
7.2 ELECTRONIC CONTROL BOARD

LED MONITORING STATUS

LED’s on the ECB help will wiring and making troubleshooting diagnoses. Every LED states the actual
position of the door. The board has a non-volatile memory and all the LED return to their initial state after a
power interruption.

L.E.D Color STATUS

+24 V Green When ON indicates the presence of 24VDC on the Logic Board

+5V Green When ON indicates the presence of 5VDC power in the Control Circuit
Open Limit Red When ON indicates door position, completely open.

Open Red Only when the open relay is activated (open relay is energized)
Close Limit Red When ON indicates door position, completely close.

Close Red Only when the close relay is activated (close relay is energized)

Safe Red Light ON only when safety devices are activated.

Flashes only when motor runs in opposite direction and activates the
wrong limit switch.

INDICATOR Red . - -
Stay ON only when the “centrifugal switch” is opened (please contact
technical support)
STOP vellow In normal conditions light; stay ON, goes OFF every time when press

STOP button or hoist is engaged.

Stop LED OFF:
e Check if the Stop button is properly connected on #8 and #9 or if a Normally Closed contact is used.

e Verify if the Hoist is properly engaged and if the Hoist switch is closed (or if any external interlock
devise is remained open)

EXTERNAL CONTROLS

Refer to the wiring diagram on page 14 before connecting power or any external device to the ECB.
Neglecting to use the proper terminals will result in complete damage to the ECB. If you are not certain about
procedures, please consult Manaras for assistance.

NOTE: Do not attempt correction by reversing wires on control station.

AWARNING

WHEN REPLACING AN ELECTRONIC CONTROL BOARD DO CHECK THAT ALL JUMPERS ARE
POSITIONED AS INDICATED IN THE WIRING DIAGRAMS ON PAGE 24 FOR SINGLE PHASE AND ON
PAGE 25 FOR 3-PHASE.




14

POWER AND CONTROL WIRING DIAGRAM

> > b H O oK E
® i@ @ 7izi3: 32235353 §§9JP‘31.
= = 000T39I1<<0001)|0+012
MSW [ o Y I e A | I [ 1
- . o A CELIRQEFFL ][ ][]
&= > g = 1 82
< oe GO0, Q@ @®
- & coh JPZ OPEN CLOSE  SAFETY CLOSE OPEN  STOP
X 4 CLS uUMIT  LIMIT
8 w Y
Dy g 5
o s
DF M e T g
® MANARAS / OPERA M & 3 4 sty
">
0t ) D060 afs o L
I e
'_%---l & +24V . a 8: 3 “’\.}'345"_\’-‘3
- 5 S o U O e © jm=
US 655 55 - © sle e © r§
T 333 g ;né n,*_fUﬁ ] S ° e PR ™
o Do o o o K g o > 7 | e
= 5t o Y & ] ] o e
S o~ W E 2 ® E o Uz, ,, Y
X 7] . S @ d;spuﬂ’
Q F X GND +5VDC
C‘) vV 5 s ROTARY SWITCH
9 o M- & +24VDC @ T35
o — g = g s > sTOP CLOSE  OPEN
* B9 CECEC
oh FUSE-2A
As swi sw2 sw3
7] "N’ -
ARt b b
oz i 2 e
m= USE ONLY -
@ o S g
o n ~ S s CONDUCTORS I_
o oz vo mg: ofw ~ ) oph |[2x [£x o
® TR B EMEE e
~ ~ g ] te} 2] < = O
GROUND LUG
POWER SUPPLY
115/208/220 VAC
1 Ph, 60 Hz.
REMOVE TOQ INSTALL
INTERLOCK.
- QUTPUT 26 VAC ———> o e
CONDUCTORS PUSH-BUTTON IS USED.
SRR R POWER SUPPLY
C >——208/220/4601575 VAC
— 0
x|
OPEN  CLOS|
WIRING FOR A 3-BUTTON STATION olto
SAFETY DEVICE
CoM COM
((Ox K\ I A S S SO0 | OO0 5
)(u)()@ >1CI1CICICACICICAICAI B
YWY Yy oYY
(%’ N§ n§ vg mE mug;v~E m§ mé QE Eﬁg
D & [ |° N B KEY-SWITCH

REMOVE TO INSTALL
INTERLOCK.

~

A cavrion

3BUTTON STATION PLACE A JUMPER BETWEEN TERMINAL
#8 AND #9, IF A STOP BUTTON,
IS NOT INSTALLED. Y,




15

LOW VOLTAGE (controls) AND HIGH VOLTAGE (power) WIRINGS.

Route the power line wires

either from right or from left
of the control box.

L ga O
‘_.,"'"3-;._.

Route all low voltage control wires
as shown. Keep low voltage wires

/ separate from line voltage wires.

AWARNING

o Wall control(s) must be located so
that the door is within sight of the
user.

¢ If momentary contact (B2 mode) is
used, an external reversing device

must be install.

VERY IMPORTANT NOTES

A Before installing power and control wiring, be sure to follow
all specifications described below. Failure to do so may damage

the operator.
e The operator must be properly grounded and connected @

in accordance to local electrical codes.

e Use different knockouts available on EACH side of the control box
to pass the power and control wiring through.

e Ensure maximum separation between power wiring and low voltage
control wirings in the control box.

o If a push button is not used, a jumper

must be placed between #8 & #9
***Under this condition a stop command is
not available to stop the door during its
travel.

o Please refer to Accessories Wiring
diagrams (TNOO5E) before connecting
any external accessories

e 2 Amp fuse is used to protect 24VDC
on electronic board and also the 24VAC
supply for auxiliary control devices




16

PROGRAM AND PROGRAM SETTINGS

Programming ability and door control at electrical box are provided by Open/Close/Stop buttons and Select Switch

located on the ECB.
e Programs

PROGRAMS FUNCTIONS AND DESCRIPTIONS
The Run Timer stops automatically the operator after an adjustable time delay either travelling
RUN TIMER upwards or downwards. The Run Timer is designed to protect the door and the operator by
preventing the motor over running much longer than the normal time.
Mid-Stop function will, when active, move the door from the down position to a predetermined
MID-STOP Mid-stop position when the open button or Open/Close device is activated. Once at Mid-Stop,

subsequent Open/close commands will close the door. To move the door to full open position,
the open button must be pressed again.

TIMER TO CLOSE

Timer to Close is a function that, when active, will close the door after an adjustable time delay
once the door has reached its fully open and mid-stop position. The timer to close function works
only in T and TS modes.

TIMER TO CLOSE (from
fully open position only)

Option used in conjunction with MID STOP function. When activated, Timer to Close is active
from the fully open position only and not from the mid-stop position.

ADVANCE CLOSED
TIME

“Advance close limit switch” is not needed with this feature. Advance close time will disable the
reversing device once the close limit switch is activated and will stop the door after 200
milliseconds before it reaches the fully closed position.

Note: Door distance traveled within these 200 milliseconds may vary depending on the door
speed.

7.3 PROGRAM SETTING

Door should be in fully closed position while setting of these following programs.

PROGRAM SETTING

SELECT
PROGRAMS ACTIVATE DEACTIVATE SWITCH
e Check if close limit switch is activated.
e Set select switch on D. ¢ Set select switch on D. 02,
RUN TIMER . Press_ “Open” button to add 10 sec to the e Press “Stop” buttpn. S o
total time needed to open the door. ¢ Set the select switch on run mode (0, 1, 2, AN
e Set the select switch on run mode (0, 1, 2, 3, 3,4 o0rb5). 6g1L°
4 orb).

e Check if the close limit is activated.
e Set select switch on “C”.

“Stop”. © » and “Open” %02,
MID-STOP | * Press “Open” button then press “Stop” ¢ Eéﬁzzcﬁtti?lgl' Close” and “Open” buttons 9 o
button on desired Mid-Stop position. y.

e Set select switch on “C”".

. ©
¢ Set the select switch back on run mode s

i 6
. feltlt(r)lreSs)elect switch back on run mode (0O, (. 1, 4 or 5). gL
] e Set select switch on “B”.
o Set select switch on “B". e Press “Stop” button the timer to close is <03
TIMER TO . Fress ""Open” button to add 15 sec or reset to O sec put still activated. Sf" o
CLOSE Close” button to add 1 sec each time (max. | o To defeat the timer to close completely set | [ 51« /=
4 minutes & 15 seconds). the switch on desired position (0, 1, 2 or rak
e Set the select switch on T or TS mode. 3).
e Set select switch on “6”.
TIMER TO e Set select switch on "6”. . p ” ¢0yg
Press “Close” button. & S
i “ " Q
(fror(ril;lﬁlif)pen * fslrtitperess the “Close” button and then the ¢ Set the select switch on T or TS mode. n;®i
. i [
position only) | e Set the select switch on T or TS mode. *Now the Timer to Close works from fully T ran
Open and Mid-Stop positions.
Controlling Timer to Close from floor level (using wall buttons)
While door is in closed position, by pressing “Stop” 3 times and Timer to close is re-activated (timer to close is back to

“Close” 3 times consecutively on the push button station, the timer | normal function) simply when door is closed either from
to close is deactivated (timer to close is suspended). fully open or from mid-stop positions.




17
7.4 MODE SETTING

Wiring T A : Select
Ilrie) WS Wiring Type & Functions Switch
c2 SET SELECT SWITCH ON 0 _ _ «© 21,
(factory Momentary contact to open and stop, constant pressure to close with 3 buttons station. 5’@1
Activation of safety devices will reverse the door during closing. Auxiliary devices ® o
preset) f . ; : & )
unction as an Open control and to reverse door during closing. 6gl
Set the select switch on 1. 502,
Momentary contact to Open/Close and Stop with 3 buttons station. Activation of safety o @i
B2 devices will reverse the door during closing. Auxiliary devices function as Open/Close A o
control and reverse the door during closing. 6g1L°
0
Set the select switch on 2. & e
D1 Constant pressure to Open and constant pressure to Close. Activation of safety g@»
devices will stop the door during closing. b : Lq"’
Set the select switch on 3 £ 01,
E2 Momentary contact to open and constant pressure to Close. Release of Close button 5@3:
activates the door upwards. Activation of safety devices will reverse door motion to A o
fully open position. 6g1°
Set the select switch on 4.
Momentary contact to Open / Close and Stop. Timer to Close if programmed, safety 01,
T devices reverse upon but will disable Timer to Close. Timer to close will also be g@«:
disabled if there is a power outage, a chain hoist is engaged or the stop is pressed © o
before elapsed time. The timer resumes its normal operation, once the close cycle is bg gL®
completed.
Set the select switch on 5. €03
Momentary contact to Open / Close and Stop. Timer to Close if programmed, 4 N
TS safety devices reverse upon activation and will refresh Timer to Close. Timer to %@#
close also gets refreshed, if there is a power outage, a chain hoist is engaged or a &3 5 Lq"’
stop button is pressed before elapsed time.

IMPORTANT NOTES:

e STOP JUMPER

e While testing the operator or adjusting the cams using the O/C/S buttons available on the Electronic
Control Board, a jumper should be placed between the #8 & #9. Once the tests or adjustments completed
the jumper should removed before connecting the wall 3-push buttons station. Failure to remove the stop
jumper, the STOP BUTTON WILL NOT RESPOND.

e A stop jumper should be installed between #8 & #9 when using a Key switch, a single button Radio
control or a 2-buttons station (Open/Close). IN THESE CONDITIONS NO STOP COMMAND IS
AVAILABLE TO STOP THE DOOR DURING THE TRAVELLING.

AWARNING

MOTORIZED DOORS CAN CAUSE SEVERE INJURY OR DEATH. MANARAS STRONGLY
RECOMMENDS THE USE OF ENTRAPMENT PROTECTION SYSTEMS, ESPECIALLY IN THE CASES OF
MOMENTARY CONTACT TO CLOSE (B2 WIRING) AND TIMER TO CLOSE (T & TS).




18

10. CONNECTION OF A REVERSING EDGE DEVICE

IMPORTANT NOTE

IF THE DOOR IS CONTROLLED BY ANY DEVICE OTHER THAN A CONSTANT PRESSURE PUSH-
BUTTON STATION, A REVERSING EDGE MUST BE CONNECTED.

A CAUTION

CONNECT REVERSING DEVICE APPROPRIATE TO INSTALLATION.

Connection and installation of a reversing edge device is provided with the edge (see also Figure 16). Any such
device that uses a normally open contact may be connected to terminals 3 and 5 on the low voltage terminal
block. When the door comes in contact with an object during downward travel, the circuit will cause the motor to
reverse the door to the fully open position. In addition, there is a cut-off limit switch (advance close limit switch)
that will de-activate the reversing edge during the last few inches of the door's downward travel.

=i =
= Y
& P
o = A
‘v = 5
Reversing edge F’
location |

Figure 16 Reversing Edge

11. DOOR LOCK SENSOR & FRICTION CLUTCH
Please read carefully prior to installing this operator

This operator is equipped with an electronic control board, which features the “DOOR LOCK SENSOR”.

The DOOR LOCK SENSOR prevents any damage to the
door when the door lock hasn't been removed prior to
electronic operation. It eliminates the need of expensive
external interlock wiring.

This feature can only be used on operators equipped with a

FRICTION CLUTCH.
When the lock stops the door, the clutch slips and in less than
1 second, the door will reverse a fraction of a second to

release the lock.
A WARNING

THE Opera-HJ/Opera-J ARE SUPPLIED WITH A LOOSE CLUTCH. THE CLUTCH SHOULD BE ADJUSTED
ON SITE ONCE THE OPERATOR IS MOUNTED.
IN ORDER NOT TO DAMAGE THE DOOR WHEN THE LOCK IS ON, THE FRICTION CLUTCH HAS TO BE
ADJUSTED PROPERLY ACCORDING TO THE INSTRUCTIONS PROVIDED IN THE OPERATOR MANUAL
AND REPEATED BELOW




19

11.1. CLUTCH ADJUSTMENT

1. Adjustment of clutch is done by rotating the nut located at the end of the input shaft where the pulley
7" is located (Figure 17).

2. Rotate the nut counter-clockwise until there is insufficient tension to permit clutch to drive door.

3. Rotate the nut clockwise gradually (1/8 turns) until there is just enough tension on clutch to permit
operator to move door smoothly, but to allow clutch to slip if door is obstructed.

4. When clutch is properly adjusted it should be possible to stop door by hand during travel.

AWARNING

THE FRICTION CLUTCH IS DESIGNED TO PROTECT VEHICLES AND DOOR HARDWARE AGAINST DAMAGE.
IT IS NOT INTENDED TO PROTECT PEOPLE. ALL DOORS SERVING PERSONNEL ARE TO BE FITTED WITH
AN APPROPRIATE REVERSING DEVICE OR REVERSING EDGE TO PREVENT INJURY OR DEATH.

We strongly recommend the use of an automatic reversing device. Several types are available as
accessories. Consult your dealer for a recommendation

Rotate the nut to
adjust the clutch in
1/8 turns increments

N
Figure 17 Clutch adjustment

11.2. ADJUSTMENT AND MANUAL OPERATION OF Opera-HJ WITH HOIST
Opera-HJ (designed with Hoist-a-Matic ® self engaging hoist system)

The Opera-HJ operator is equipped with an automatic emergency chain hoist disconnect mechanism and a
quick disconnect control to operate the door manually.
In one simple step
- Control circuit interrupted (if the quick disconnect control is used)
- Coupling and hoist engaged.
- Manual operations.
are successively completed by pulling the hand chain in the desired direction:

1. Simply pull on the hand chain in the desired direction. The first foot pulled will engage the hoist
mechanism and open the electrical circuit.

2. Continue the traction movement to move the door. If it doesn’t run in the desired direction, repeat
actions 1 and 2 by pulling the chain in the other direction (See Figure 18).

3. The automatic hoist engagement system is adjusted in the factory. It may require adjustment in the
field. Adjustment is necessary if no door movement occurs after two fetes of pulled hand chain. Turn the
adjusting nut clockwise (see figure 17) by ¥4 turn until the hoist engages after pulling one foot of chain. If
the nut is too tight, the manual torque on the chain will be too heavy.

4. Return to the standard electrical operation.

IMPORTANT : TO RETURN TO ELECTRICAL OPERATION MERELY PULL SLIGHTLY ON THE OPPOSITE
DIRECTION OF THE CHAIN.

AWARNING

DO NOT ATTEMPT TO DISENGAGE THE OPERATOR WHILE OPERATOR IS RUNNING. DO NOT ATTEMPT
TO MANUALLY FORCE A MALFUNCTIONING DOOR TO OPEN OR CLOSE. THIS IS AN EMERGENCY
DEVICE AND IS NOT DESIGNED TO OPERATE A DOOR WITH SERIOUS MECHANICAL PROBLEMS.




20

//‘ AN L
Engagement J/

! }’"

v lh

Operation J'J

Return in "l,il
electrical l!‘f
operation \ l’hflj
position “’
. ';llil

v )
ki

Figure 18 Operating chain to open and close door Figure 19 Manual operation system adjustment

12.1  MANUAL OPERATION OF Opera-HJ WITH QUICK DISCONNECT

1- Pull down on the emergency egress handle to open.

2- When the handle is perpendicular with the faceplate, the door is mechanically and electrically
disconnected and ready to be manually operated.

3- To resume normal operation:

e Return the handle to its full up position and press to right then up
12.2  MANUAL OPERATION OF Opera-J

1- Pull on the disconnect chain until feel a resistance.

2- Engage the chain in the chain keeper. The door is disconnected from the electrical motor and ready
to be manually operated.

3- Just make free the disconnect chain from the chain keeper to “reconnect” the operator and return
the standard electrical operation.

13. TROUBLE-SHOOTING

All operators are thoroughly tested and adjusted before shipping. In most cases, it is after installation and
hook-up to external devices that a problem will arise.

If after connecting external devices to the operator, you encounter problems, the trouble often lies in the
external devices or in the wiring leading to the external devices. Verify all external wiring making certain that
there are no wires pinched anywhere shorting to ground and that there are no voltages being sent into the
control circuit. The operator functions ONLY with dry contacts: all voltages necessary for proper functioning
are generated by the operator transformer.

13.1. TROUBLE SHOOTING AN OPERATOR WITH ECB

Troubleshooting an operator with an ECB is easier since the LEDs provided on the circuit board help to
bring a better diagnostic while finding faults.

Check the followings that may prevent the operator from

Easy fix starting before coming to any conclusion.

Check light status on | Before starting any intervention, check the LEDs status and refer
the ECB to the page 13 for a proper diagnostic.

Cheel e eperiing Review the operating modes: B2, C2, D1, T or TS.

modes
Check the A wrong programming on Timer to Close or Mid Stop will stop the
programming door to an improper position.

If the 3 test buttons are being used without the stop jumper
between #8 & #9, the operator will not respond to the 3 buttons
command.

Check the presence
of stop jumper




21
TROUBLE SHOOTING GUIDE

SYMPTOM

PROBABLE CAUSE

SUGGESTED ACTION

Door will not respond to « open »
or « close » push buttons

Check if STOP Le

d: if OFF.

Check if hoist is not engaged.

Disengage the hoist. (JP4 on 2-3 for
trolley & sliding operators)

Defective “stop” push button.

Replace.

Check wiring from push button to operator

Replace if needed.

Loose connection in one of the push buttons.

Verify, tighten or replace

If STOP Led is ON.

Defective “open” or “close” push button. Replace.
Check the “open” Led: if OFF Replace the board
: If “open” Led is ON
Door will not respond to “open” Defective - " h butt P ISR |
command, but will respond to erec !ve open pus u on eplace.
“close” command Defective “open” limit switch. Replace.

Loose wire on “open” push button, “open” limit
switch.

Verify, tighten or replace.

Door won't respond to “close”
command, but will respond to
“open” command

Check the “close” Led: if OFF

Replace the board

If “close” Led is ON
Defective “close” push button. Replace.
Defective “close” limit switch. Replace.

Loose wire on close push-button, close limit
switch.

Verify, tighten or replace.

Door move in wrong direction
single or 3-phase operator

Motor rotation is reversed on board motor
terminals.

Interchange #T13 and #T14 on the
power board.

Stop button doesn’t stop the door

Two 3-push button stations connected in
parallel.

Correct wiring (only stop buttons in
series)

Bad stop button.

Check and replace.

Sensing edge does not reverse
door

Pneumatic hose broken.

Check and adjust.

Bad air switch.

Check and adjust.

Bad wiring.

Check and correct wiring.

When door closes it reverses to
fully open after it hits the floor

The advanced close time is not proper
adjusted.

Check and adjust.

The close limit switch is not being engaged by
traveling cam.

The close limit switch needs to be
adjusted properly at the end of travel.

An “open” command is given.

Check “open” push button or any
opening device for short-circuit.

Motor hums, starts when spun
(1 ph)

Capacitor defective.

Replace.

Motor relay buzz for a few seconds
when door is stopped (1 ph)

Bleeder resistor faulty on capacitor.

Replace.

Motor fails to shut off at fully
closed or opened position

Defective limit switch.

Operate limit switch manually while
door is moving. If door does not stop,
replace the switch.

Limit cams are not adjusted.

Verify and adjust.

Limit drive chain broken.

Replace.

Loose sprocket on limit shaft.

Tighten setscrew.

Limit shaft does not rotate.

Verify and replace accordingly.

Motor turns but door does not
move

Sprocket key is missing.

Replace.

Drive chain broken.

Replace.

Limit shaft does not rotate.

Adjust clutch tension.

Limit switches do not hold their
setting

Loose drive or limit chain allows chain to jump
sprocket teeth.

Adjust chain to proper tension.

Limit cam retainer not engaging slots in limit
cams.

Be sure retainer is in slots of both
cams.

Limit cams are binding on shaft threads, which
allow them to jump position on retainer.

Lubricate shaft threads. Limit cams
should turn freely.

Limit shaft have a light.

Verify and adjust.




22

14. SCHEDULED MAINTENANCE
Maintenance and supervision should be performed by qualified persons only.
Inspection and service should be performed anytime a malfunction is observed or suspected.

AWARNING

WHEN SERVICING - ALWAYS DISCONNECT OPERATOR FROM POWER SUPPLY

14.1. MECHANICAL
The door area should always be kept clear of dirt, rocks or any other substance to insure proper operation.

EVERY 3 MONTHS | - Check and adjust the clutch, if necessary.

- Lubricate all moving parts, Bushing are oil impregnated and are lubricated for life.
- Verify that all mechanical parts function properly.

EVERY 6 MONTHS | - Inspect the V-belt and adjust or replace if necessary.

- Manually operate the door. If the door does not open or close freely, correct the
cause of the malfunction.

- Inspect all bolts and screws and tighten if necessary.
- Check for any excessive slack in chains and adjust or replace them if necessary. The
limit switches may have to be reset after a chain adjustment.
- Inspect the door for wear and damage.
- Run the operator a few cycles:

ONCEA YEAR Make sure that the door rollers are rolling smoothly on the track.

Listen to the motor: The motor should hum quietly and smoothly.

Verify that the limit operates quietly and smoothly: investigate any unusual noise.
- Verify that the mooring bolts are holding the unit securely.
- Inspect the unit for evidence of corrosion.

14.2. ELECTRICAL

AWARNING

BEFORE OPENING THE CONTROL BOX COVER, DISCONNECT OPERATOR FROM POWER SUPPLY

¢ Inspect the unit for evidence of corrosion.
e Inspect the wiring compartment and remove any dirt from the control units.

e Check all the grounding wires and terminations for corrosion. Be particularly careful to check the ground
wires.

e Check the terminal strip to insure that all the screws are tight.
o Verify that the safety edge or other safety device installed on the operator are fully operational.

e Check the voltage at the input terminals while the operator is running. The voltage must not drop more than
10% momentarily. If the voltage drop is too deep when running, the relays may chatter, the contact points will
wear prematurely and may eventually weld. Check the power terminations for corrosion.

e Check the current consumption of the unit with an amp-meter. The value of current should be consistent with
the name-plate specifications. Investigate any anomaly.



167 1| FLAT WASHER .188 X 438 X .04 WASHER002 PARTS IDENTIFICATION
168 | 2 | FLAT WASHER .250 X .562 X 0% WASHEROD3 & | arv DESCRIPTION # MANARAS REV
169 | 12 | FLAT WASHER 312 X 734 X .06! WASHEROD7 1| LEFT_HAND SIDE FRAME FRAMEO37
170 | 2 | FLAT WASHER .656 X 1.312 X .095 WASHERO 14 1| RIGHT HAND SIDE FRAME FRAMEO38
17 12| LOCK WASHER 5/16 WASHER028 1| CONTROL BOX CBOX025 AB
17 7 | BELLEVILLE WASHER 5/8 WASHERO35 1| COVER COVERQ47 E
17 FLAT WASHER 1/8 X 3/8 X 1/32 WASHER056 LIMIT_SHAFT HAFT103 €
17 FLAT WASHER 3/4 X 1 1/8 X 1/32 WASHER058 INPUT_SHAFT HAFT107 A
17 CAMPLATE_SPRING SPRINGO30 QUTPUT SHAFT. HAFT102 €
17 COMP._SPRING 1~ 0D SPRINGD4 1 8 COVER ARM ARMD25 C
17 1| EXT. SPRING 3/8 0D SPRING042 9 CBOX_ARM ARMO24 €
178 1__|KEY 188 X 2 1/2 (INCL_W/_MOTOR) 10 CBOX_ROD_SPRING SPRINGD39 €
179 [ 1 [KEY 174 X 1 KW02 11 €BOX_ROD RODO19 A
180 | 1| KEY 3/16 X 1/2 KW03 CBOX_SWITCH SUPPORT BRACKET193 A
181 V| KEV 188 X 188 X 1 3/4 KWOO3 LIMIT_SWITCH_LEVER LEVERD70 F
182 1| POP RNET 1/8 - 3/8 RIVETOD3 CAMPLATE CAMPLATED15 [}
183 | 3 |POP RMET 5/32 — 1/4 RIVETO04 LIMIT_CAM CAMOT1 8
184 | PUSH NUT 410 CLIPO1S LIMIT_SHAFT BUSHING BUSHINGOS5 .
185 PUSH NUT 1/4 CLIPO16 1 HANDLE HANDLEGOS G
186 SPRING PIN 5/16 X 2 PFINO21 T DISC. SWITCH_SUPPORT BRACKET192 .
187 DISCONNECT FORK_AXLE PINO22 20 DISCONNECT FORK FORKOOT i
188 16~ X 1/16 CABLE 1 END STOP CABLED12 21 1 | CBOX ARM_L—BRACKET BRACKET181 c
189 CABLE SLEEVE 1/16 SLEEVEQQ1 22 1__| COUPUNG 374 2 PINS 1/4 COUPLINGO14 A
190 S _HOOK HOOKOOT 23 1| DOUBLE SPROCKET SPR410B12A28X3/4] A
24 1| DOUBLE SPROCKET 41B14A410B32X3/4] A
25 7| DOUBLE_SPROCKET SPR410B14A32X1 | B
26 1|32 TOOTH 41 SPROCKET SPR41B32X1PHS/16] A
27 1| SPACER 3/4 SPACER008 A
28 1__| SPACER SPACERO 11 .
29 1| MOTOR PLATE PLATEO78 H
30 1| PULLEY PULLEY020 C
31 1| FRICTION DISC CLUTCHPADOO1 8
32 1__| TORQUE_LIMITER PLATE CLUTCHPLATEOD6 | A
50 T | MOTOR MOTOR
51 1| MOTOR PULLEY 5L X 2 PULLEYO14
52 1| V-BELT 5L V=BELT SL
53 1_| COLLAR 3/8 COLLARGOZ
54 2 | COLLAR 5/8 COLLAR004
55 COLLAR 3/4 COLLARGO5
56 COLLAR 1" COLLARGO7 .
57 SEALED FLANGED BRG 5/8 PRECISION BEARING006
58 FLANGED BEARING 1~ BEARING007
59 CHAIN 41 48P_(WITH CHAIN_LINK) CHAINOS9
60 CHAIN 410 48P (WITH_CHAIN_LINK) CHAINO58
1 1| CHAIN 410 32P (WITH CHAIN LINK) CHAINOOB .
2 1|14 TOOTH 410 SPROCKET 410B14X1
3 1|9 TOOTH 410 SPROCKET SPR41089X.375
4 1| CABLE STRAIN RELIEF BUSHINGO58
100 | 1 | TERMINAL STRIP TSTRIPOO1
101 RADIO_CONTROL TERMINAL_STRIP TSTRIPODS,
| 102 GROUND _LUG CONNECTOR039
03 TRANSFORMER' TRANSF005-037
[ RELAY 120V OR 240V DPDT RELAY026-027
0! 1| RELAY 24v_DPDT RELAY024
10 1| CONTACTOR CONTACTOR041
10 & | LIMIT_SWITCHES LIMITO15
108 1| RESET )
150 | 12 | HEX NUT 5716-1BUNC NUTO07
151 | 4 | NYLON LOCK NUT 6-32UNC NUTO18
152 YLON LOCK_NUT_10-32UNF NUTOTS
153 [YLON LOCK_NUT_1/4-20UNC uT020
154 [YLON LOCK NUT_5/8—18UNF UT024
155 HEX HD 1/4-20UNC X 3/4 OLT00
156 | 12 | CARRIAGE BOLT 5/16-1BUNC X 3/4 OLTOS.
157 SET SCREW 1/4-20UNC X 5/1 CREWOOT
158 SET SCREW 5/16—18UNC X 5/16 CREWO0O03
159 SELF_TAPPING 10-24UNC X 3 CREW022
160 1| SELF_TAPPING 10-24UNC X 3/ SCREW023
PARTS IDENTIFICATION NOT SHOWN 161 1| PHILLIPS SCREW 10—32UNF X 1/2 CREWOS4
oy DESCRIPTION 0 REV 162_| 13 | SELF JTAPPING 6-32UNC X _3/8 CREWO094
TIEWRAPT CABLE025 163 | 7 | SELF TAPPING 6-32UNC X 5/8 CREWO095
CONNECTOR CONNECTOR002Z 164 | 2 [ SELF TAPPING 6-32UNC X 7/8 CREW0S5
WIRE NUT WIRENUTOO1 165 | 4 |ROUND HO SCREW 6-32UNC X 1 5/8 SCREW097
14| DISCONNECT CHAIN CHAINOGS 166 1| SET SCREW 10-32UNF X 3/16 CREWO0S8 .
1 JUMPER JUMPER028 Mzn T wmm.uwmﬂvnﬁmm_z IS PROPRIETARY 10 MANARAS AUTO DOORS INC. AND SRALL NOT BE
EPROOUCH USED FOR ANY OESIGN OR MANUFACTURE EXCEPT WHEN USER POSSESSES
1 JUMPER JUMPERD2S . DIRCCT WRITTEN AUTHORIZATION FROM_MANARAS ALTO DGORS INC.
1| HARNESS (TSTRIP-2A FUSE) HARNESS001C C i OPERA-J SINGLE PHASE
1__| MOTOR HARNESS HARNESS031 A e o : o
T |2 AMP. FUSE ICKEROO3 MARTINE BEAUCHEMIN | 02.01.29 OPERA-J—X | — [2004.03.09
T _[1108 ICKERO3S MANARAS AUTO DOORS INC. T
T__| MADE (N_CANADA TICKERO4 Pw._mzmm,_mo_m»_mwa,ﬁ HoR 1a5
T | ELECTRICAL OIAGRAM ICKERO4. - ‘ 72
T | ATTENTION-CAUTION TICKER04S P mxuwmmwm §§
1| IDENTIFICATION TICKERO48 : 514.426. A4




10 | SET SCREW 5/16—18UNC X 5/16 CREWO003 PARTS IDENTIFICATION
2 | SELF TAPPING 10-24UNC X 3/8 CREWD22 & [ av DESCRIPTION # MANARAS REV
1| SELF TAPPING 10-24UNC X 3/4 CREW023 [ T | LEFT_HAND SIDE_FRAME FRAMEOS7 J
PHILLIPS SCREW_10-32UNF X 1/2 SCREW054 1| RIGHT HAND SIDE FRAME FRAMEQ38 J
SELF_TAPPING 6-32UNC X 3/8 SCREW094 1| CONTROL_BOX €B0X025 AB
SCREW 6-32 x 1 CREW042 1| COvER COVER047 €
SELF_TAPPING 6-32UNC X 7/8 CREWOSS 1| LT SHAFT HAFT103 E
ROUND HD SCREW 6-32UNC X 1 5/8 CREW097 1| OPERA—HJ RIGHT INPUT SHAFT SHAFT111 .
1| SET SCREW 10-32UNF X 3/16 CREW098 1| OUTPUT SHAFT HAFT102 £
1__| FLAT WASHER .188 X .438 X .049 WASHER002 8 1__| COVER ARM ARM025 c
2 | FLAT WASHER .250 X .562 X .049 WASHER003 9 1_(CBOX ARM ARM024 E
12| FLAT WASHER .312 X _.734 X _.065 WASHER007 10 CBOX_ROD_SPRING SPRINGD39 €
3 | FLAT WASHER 656 X 1.312 X .095 WASHERO14 11 CBOX_ROD RODOT9 A
12 | LOCK_WASHER 5/16 WASHER028 13 LIMIT_SWITCH_LEVER LEVERO70 F
BELLEVILLE WASHER 5/8 WASHERO35 CAMPLATE CAMPLATEQ15 [}
FLAT WASHER 1/8 X 3/8 X 1/32 WASHER056 LIMIT_CAM CAMO11 B
LAT WASHER 3/4 X 1 1/8 X 1/32 WASHER058 LIMIT_SHAFT_BUSHING BUSHINGOS5 .
CAMPLATE_SPRING SPRING030 - HANDLI HANDLEOOS G
COMP. SPRING 1~ 0D SPRINGO41 B8 DISC. SWITCH_SUPPORT BRACKET192 .
1__|EXT_ SPRING 3/8 0D SPRING042 20 1| DISCONNECT FORK FORKOQ1 [}
1| KEY .188 X 2 1/2 (INCL. W/ MOTOR) R 1 1__| CBOX ARM L—BRACKET BRACKET181 C
1| KEY /4 X _3/4 KWO17 A COUPLING 3/4 2 PINS 1/4 COUPLINGO14 A
1_|KEY 3/16 X 1/2 KWO31 C DOUBLE_SPROCKET SPR410B14A28X3/4] A
1_|KEY .188 X 188 X | 3/4 KW009 A DOUBLE_SPROCKET 41814A410832X3/4| A
1| POP RVET 1/8 - 3/8 RIVET003 25 DOUBLE_SPROCKET SPRA10B14A32X1 | 8
POP RVET 5/32 - 174 RIVET004 26 1 2 TOOTH 41 SPROCKET [SPR41B32XIPHS/16] A
PUSH_NUT §10 CLIPO15 27 1 PACER 3/4 SPACERQ08 A
PUSH NUT 174 CLIP016 28 1 PACER SPACERQ11 .
SPRING PIN 5/16 X 2 PIND2 29 1| MOTOR PLATE PLATEO78 H
DISCONNECT FORK AXLE PiND22 30 1| PULLEY PULLEY020 c
0ARD BOARDO30 1 1| FRICTION DISC CLUTCHPADQQ1 8
0ARD_SUPPORT 5/8 SUPPORTO01 2 1| TORQUE LIMTER PLATE CLUTCHPLATEOD6 | A
7 OARD SUPPORT_RIVET SUPPORT002 R 0 1| MOTOR MOTOR
1__| CBOX_SWITCH SUPPORT BRACKET193 A T 1 _|MOTOR PULLEY SL X 2 PULLEY014
SELF_TAPING SCREW 6/32X5/8" F SCREW095 52 V-BELT 5L V—-BELT 5L
53 COLLAR 3/8 COLUARDD2
54 COLLAR 5/8 COLLAR0O4
55 COLLAR 3/4 COLLARDDS
3 COLLAR 1° COLLARDO7
7 SEALED FLANGED BRG 5/8 PRECISION BEARINGO06
8 FLANGED BEARING 1~ BEARINGO07
9 CHAIN 41 48P (WITH CHAIN_LINK) CHAIND59
0 CHAIN 310 48P (WITH_CHAIN_LINK) CHAINOS8
T CHAIN 410 32P (WITH CHAIN LINK) CHAINOOG
2 1|14 TOOTH 410 SPROCKET 410814X1
3 T_|9 TOOTH 410 _SPROCKET SPR410BIX.375
4 1| CABLE STRAIN RELIEF BUSHINGD58
65 1| FLAT WASHER 5, BEARING024
67 1| CHAN GUIDE UIDEO 12
68 T__| HAND CHAIN PULLEY POCKETWHEELOOS
69 1_| FRICTION BAND HOEG1 .
70 | SIMPLE SHOE HOEQD! E
7 1| SWTH_SHO! HOEO10 D
7 1| DISCONNECT CAM CAMO10 €
7 1__| CARRIAGE_BOLT BOLT094 .
7 1| DISCONNECT_SPRING SPRINGD40 8
7 7| OILITE WASHER 5/8 x 1 WASHERDS7
7 1| FLAT WASHER 5/8 PRECISION THIN WASHERO18 .
7 1| OISCONNECT SPRING WASHER BUSHING056 B
7 1| FLAT WASHER .640 x 1.180 x .065 WASHERO43
80 = | HAND CHAIN (WITH_HARDWARE) CHAINOOZ2
10 1| RADIO CONTROL TERMINAL STRIP. TSTRIPDOS
102 GROUND_LUG CONNECTOR039
103 TRANSFORMER TRANSF005-037
i LIMIT_SWITCHES UMITO15
108 RESET R
PARTS IDENTIFICATION NOT SHOWN 150 | 12 | HEX NUT 5/16-18UNC NUTGO7
T DESCRIPTION o MANARAS REV 151 | 4 | NYLON LOCK NUT 6-32UNC NUTO18
TIEWRAPT CABLE025 2 1| NYLON LOCK NUT_10-32UNF NUT019
CONNECTOR CONNECTOR002 3 t | NYLON LOCK_NUT_1/4—20UNC UT020
WIRE NUT WIRENUT001 {156 1 NYLON LOCK NUT 5/8—18UNF UTQ24
JUMPER JUMPER020 S5 1| HEX HD 1/4-20UNC X 3/4 OLT002
JUMPER JUMPERO021 156 | 12 | CARRIAGE BOLT 5/16—18UNC X 3/4 0LT093
JUMPER JUMPER022 2 | SET SCREW 1/4—20UNC X 5/16 SCREWOO1 .
SUNPER JUWPERG23 T L e s e s cttes
ESSES
JUMPER JUMPERO24 DIRECT WRITTEN AUTHORIZATION FROM LIANARAS AUTO DOORS INC.
JUMPER JUMPER028 e OPERA-HJ
JUMPER JUMPERD29 - e s oo s i
1| MOTOR HARNESS HARNESSO031 A NICOLAS VIAU 2003.06.18]  OPERA-HJ—X .| 2004.03509
1| HARNESS HARNESS035 8 MANARAS AUTO DOORS INC. "
1| MADE IN_CANADA STICKERO40 136 ONEIDA DRIVE
1 [ATTENTION=CAUTION STICKERQ45 POINTE-CLAIRE, QC HIR 1A8 g XS
| IDENTIFICATION STICKER048 L wnwwm“wwm {
1| ELECTRICAL DIAGRAM STICKEROS0 daiba o Somty




25

7.10 Single phase ECB wiring diagram

ROTARY SWITCH SETTINGS
[WIRING DIAGRAM FOR 1-PHASE OPERATOR- MODEL : OPHIOPJ/OSH/IOGH | 70 REVERSE MOTOR ROTATION
INTERCHANGE ORANGE & BLUE
................. Wi PE: PR ETTINGS
EI/ mox SWITCH 'cvmgémz;mnozzmnqménﬂ WIRES ON T13 AND T14. RING TYPES OGRAM S|
R b@zwx a@noupgu : I e—
(s i 0 "o, - " o) €0
! Pyl ! ! & 2 m
“ 'C.B0X. SWITCe— OPERAJ—»DISCONNEGT mi:ﬂ_ “ “ % .M
1 . \.mszn 2o, s 1 ® -
== “ Foo || | [Mnsreg
T He——— e —- i 120 VAC MOTOR 1 WIRING 68l
! T ! mmmmeaasio | CLOSE
) ! \|4-I%@4:J ! ! 220 VACMOTOR '
r||I+M/ OPERAH - H | \_ £ lo N
5 Y it I H ! Q. ]
g .mq%.m!l g | ! ENDS ADV
2ol _Lne ool __ ! 1 | B2 A .
! ! ! WIRING | “651° CLOSE
.Ilmvmlx»uoh. 1 ! TIME
i “
_ I - 13 0 7
1 % °
Q,
g3 £d zlz u NOT AVAILABLE ON + o 2 g © 8
4322 as>%5 & NEMALAX OPERATORS) . D1 N (o r,\,_\nwmﬁ_zo
DEggelsR 5 2 au WIRING 8k
SO |mWa & Q 8L TIMER
&
e vee ([ I
H—+H 1 H+— £ S il
@ ii3zi: 4B333ziz £iol DA 5 3 SR B [s/=%
T T 1EF0% S Cuum I << oo o 23 ® > o >
£z . 000 E2 AP TIMER TO| ®3__4
\/\M ssaazurm @]o o o]« lola]e ® BOARDOG6 LN P A ® WIRING Prat CLOSE tret
o2 MANARAS / OPERA ™ T2 TR
ecos| © () @ OO O w5 w2 wn wm wm m
L ﬂvN OPEN CLOSE  pFETY CLOSE OPEN  STOP — _|lm§oxUI|_ 507 Iy
UMIT LM BLACK" L. 5 &, O D\A\ 2
p— S 2 3 °
s K2 K1 T oD & ® S
@  wusiomm P Y sl R WIRING | “631° MID-STOP| “§gt1®
BOARDO060 s PR RS [CLOSERELAY ] [ OPENRELAY ] SAME AS LINE
w24y o g ~ Pl - % e pi2 !@ VOLTAGE
[ J u g So o M@H a2 POWER SUPPLY [T BRERRER] <897,
g = - Norsedse ¢ TPH G0 He 5 S ® D
n@ B ° : i [7x] @ o -
g > o\ T 4 — 24 VAC SECONDARY TS a? sS RUN
o 2 iy 2 > mmm 1 P12 P13 P13 P12 P11 G 68 L
N o s mmm 1 | Aveuow—t 1 | WIRIN TIMER
2 @ P ROTARY SWITCH 9%
i o 2 o g — & — ON BOARD JUMPER SETTINGS
T40 T42 <-TRANSF-> T41 T
FUSE-2A HmH HWH HMH JUMPER IS zod.% [ ] IAM' <RESET> T2 w m Mw m_wmu /P4 (DISCONNECT), 50
@mm swi sw3 FOR 220VAC MOTORS. 1 | M “N % [FRESENT| NOT PRESENT]
e & JRORECE 12 12| 23
HEEEEER /
PERATOR
ot WARNING LIGHT/RECEIVER MODULE
uzm aMamswsE.,NaM:o = w. I
w 2 =
H £ g 8 51E g8 o
BL TBS CONNECTION FOR WARNING LIGHT
REMOVETO NSTALL AND mem_Mm%a_%mmw_.m.
: (CONSULT
NOTE:-
FOR ROTARY SWITCH SETTINGS AND PROGRAMMING
mxu—.mxz>_l <<_m_ZO PROCEDURES, REFER TO INSTRUCTION MANUAL
LINE POWER 24 VAC POWER EXTERNAL INTERLOCK SAFETY REVERSE || OPEN/CLOSE COMMAND | SINGLE PUSH-BUTTON STATION TWO PUSH-BUTTON STATION RADIO RECEVER
6 7 7 8 THE INFORMATION CONTAINED HEREIN IS PROPRIETARY TO MANARAS/OPERA,
L1 N2 1 2 10 11 3 5 3 4 _a | ANDSHALL NOT BE REPRODUCED OR DISCLOSED OR USED FOR ANY DESIGN OR
& 8% | MANUFACTURE EXCEPT WHEN USER POSSESSES DIRECT WRITTEN AUTHORIZATION
% % % m @ Z o i "L | FRommanaARAsIOPERA.
2 a & Z
3% e WIRING DIAGRAM, 120/208/220VAC, 1- PHASE
o3 DRAWN BY: DATE: [CAD FILE: [REV_JDATE:
romer v | aenceonen  Ieacrony merauien sees g oF w o o
1o VAILABLE T0VA MAX. 1S USED. CONTALT SOR 3 =" I'MANARAS/OPERA 9140-0720 QUEBEC INC.
arerY B oeved oSBT e | 4 POINTE.CLARE. GC HOR 148
PLACE A JUMPER BETWEEN TERMINAL#8 TEL- 1-800-361-2260
ATTENTION- USE 18AWG OR HIGHER FOR WIRING ALL EXTERNAL CONNECTIONS AND# 9. IF STOP BUTTON IS NOT USED. FAX: 1-888-626-0606 ?




26

7.11 3-Phase ECB wiring diagram

[WIRING DIAGRAM FOR 3-PHASE OPERATOR- MODEL : OPH/OPJ/OSH/OGH ||

o BOX. SWITCH +—OPERA-OSH—+DISCONNECT SWITCH _

:
g el

ICOM

BRAKE SOLENOID, IF USED.

ROTARY SWITCH SETTINGS

WIRING TYPES

PROGRAM SETTINGS

ATTENTION- USE 18AWG OR HIGHER FOR WIRING ALL EXTERNAL CONNECTIONS

PLACE A JUMPER BETWEEN TERMINAL#8

AND# 9. IF STOP BUTTON IS NOT USED.

POINTE-CLAIRE, QC H9R 1A8

TEL- 1-800-361-2260
FAX: 1-888-626-0606

r ELLOW= -3 —oly I J _
i —- i TO REVERSE MOTOR ROTATION O o @
! —l .a..mﬂaﬂwvmxmﬂ.wﬁ%zdo.qgmﬂ_ ! 2 E INTERCHANGE RED & BLACK Q.
H NC N.C: OM H THERMALLY PROTECTED oQ WIRES ON T13 AND T14. S} IS
i _Hog.@zm Rt Eo ! WoToR 3 c2 |end da MID-STOP
! —— e | WIRING 63 L TIMER TO
1 !  FOISTSWGH |_ 1 CLOSE
N e :
SR, . M. i
L™ N.O ~4___ 1
S~ L OPERMEL. -
M 3 .I..|.|.I_ . 1 3 7
2 OIS TSREH hy
g o [ ® o ADV.
H Loor 2 Ml ¥ B2 ,
%l _ WIRING Eratd CLOSE
(R0 TIME
& %_I_% zlz z -_ {NOT AVAILABLE ON N m
132208 >%2 b3 @R N MA-4/4X OPERATORS) D1 WARNING|
TOS3EPE2 582 Too 2 WIRING LIGHT
776866 24 ! reD TIMER
-3 z BLUE
pe ! &
T T L T T =4 BLACK
® Fizizi 2883:53%53 33 G 3 B
T T ]FFTCTO prTeRB00 ¢ £ TIMER TO
&g 2
[\ FEEITTREE MR —www . e ctose
™ T4 T2
% O @ @ @ @ ™ JP23 JP22 Jr21 JP23 JP22 JP21
OPEN CLOSE _ L
SAFETY CLOSE OPEN STOP 'BLACK!
L—UN LMIT LT BEACK. A. o
—
= K2 K1 T
o T L3
q - pw M ua»s ———p i !@ WIRING MID-STOP|
2l AR AR CLOSE RELAY OPEN RELAY
a gfs ¥ Doresy %, PONERSUPPLY | |2 |.® SAME AS LINE
=] £le So w@u a2 3Ph, 60 Hz. VOLTAGE EITH
m@ =k o BT ® ® m S w U
M B R
m d B STT - V] L= 24VAC SECONDaRY ev M
@
= o “Buny ason mw..r mmm P11 P12 P13 P13 P12 %_: <<_.“‘Nm_ZO §§1° ﬂ__._“\__,__mx
» 5 | I—— J—
& o — gz L B
8 STOP  CLOSE  OPEN 3 —— ® Tae ON BOARD JUMPER SETTINGS
HWH HMH HWH T42 <TRANSF-> T41 [ ) P2 —
P4 (DISCONNECT)
swi sw2 sw3 1 b — SRESET T2 _ b g2 m m 123 ‘n SWITCH ‘oee)
% m_u } W s @b IPRESENT| NOT PRESENT]
-3 5
_ _ L& ga 2 208/480/575 VAC| 2,3 121 23
BLACK: —
WARNING LIGHT/RECEIVER MODULE
;csm suvu sM: B n_n ¥z e 24V
R 5 B 8@ "y [
]85 CONNECTION FOR WARNING LIGHT,
it Sk AND RECEIVER MODULE.
(CONSULT FACTORY)
NOTE:-
FOR ROTARY SWITCH SETTINGS AND PROGRAMMING
EXTERNAL WIRING PROCEDURES, REFER TO INSTRUCTION MANUAL
LINE POWER 24 VAC POWER EXTERNAL INTERLOCK SAFETY REVERSE OPEN/CLOSE COMMAND | ' SINGLE PUSH-BUTTON STATION TWO PUSH-BUTTON STATION RADIO RECEIVER
THE INFORMATION CONTAINED HEREIN IS PROPRIETARY TO MANARAS/OPERA,
L/L1 NL2 L3 1 2 10 11 3 5 3 4 8 2 14 o | AND SHALL NOT BE REPRODUCED OR DISCLOSED OR USED FOR ANY DESIGN OR
& | MANUFACTURE EXCEPT WHEN USER POSSESSES DIRECT WRITTEN AUTHORIZATION
o z OF
m m m % W @ g o E| “EL | FROMMANARASIOPERA.
2 & & 2
Q
0% |we WIRING DIAGRAM, 208/460/575VAC, 3- PHASE
Qs 3 - » 3
POWER SUPPLY 5] = DRAWN BY: PATE: [CAD FILE: [REV_[DATE:
FAGTORY INSTALLED JUMPER 9 o
ul.k,»%o Hz. %&ﬂouﬂﬂﬁmwox REMOVE IF EXT. INTERLOCK g gy BP [ 15.NOV.2006 | BB0-OPE33-N1 | A | 15.0aN.2007
i i \WVAILABLE 10VA M 1S USED. P L g = MANARAS/OPERA 9140-0720 QUEBEC INC.
% 9
SAFETY EDGE/SAFETY DEVICE] OPENICLOSE DEVICE NOTE. =3 136 ONEIDA DRIVE

22D




27

8. Single Button Control Radio (SBC)
& Warning lights programming instructions.

8.1 Single button Radio Programming Instructions

With the single button radio feature, it is now possible to use a single channel transmitter as a Commercial
application and as well as Single Button Radio Control (SBC).

The SBC give the possibility to open, stop or close the door by using a single button radio transmitter (or a single
push button station). This feature is available on operators equipped with Electronic Control Board (BOARDO60
with program from MP4.8).

Setting of Single Button Radio Control Sequence (SBC)

Activating and deactivating a Single Button Radio Control.

Activating SBC sequence: Set select switch on 9 and press Open
(INDICATOR LED should light ON)

- Then set the select switch on B2 (1), T (4) and TS (5) mode.
Deactivating SBC sequence: Set select switch on 9 and press Stop. 9
(INDICATOR LED should light ON)

- The radio receiver is back for Standard Commercial Sequence. Select switch
- Setthe select switch to desired position (0, 1, 2, 3, 4 or 5).

Operating sequence of Single Button Radio control.

Door operating sequence (ex. door fully closed)
Activation Door reaction
st Will open Single button
2nd Will stop radio
3rd Will close
4th Will stop

Note:

While using the radio control in SBC mode, a moving door will stop upon activation of a single button
transmitter.

When door is in partially opened position (not moving), pushing the single button transmitter will open the
door if the last movement of the door was closing or will close the door if the last movement was opening.

If the door is partially opened (not moving) for more than two minutes, activating the single button
transmitter will always open the door.

In case of Timer to Close: Mode 4 (T) or 5 (TS).

Activating the single push transmitter will close the door immediately from fully opened position even the
time is not expired yet.

At power ON, the single push button transmitter will always open the door upon activation.



28

8.2 Warning Light Sequence

Lights Operating sequence
Red The light is solid red when the door is closing and opening. Light turns OFF once the door reaches
the fully open or fully closed position
The green light is ON only when the door is fully open and stays ON during a preset time (programmed
Green -
by the Timer to Close)
Red The red light starts flashing once the green light is OFF and when the door is about to close. This is to
(flashing) | warn the users that the door will close shortly. It stops flashing once the door start closing.
Warning lights sequence is operational from Mid-Point position in same way as from fully open

8.3 Programming warning lights sequence (door should be in the closed position)

NOTE: Warning lights is functional only with Timer to Close

SETTING ACTIVATE DEACTIVATE e
Set select switch on “B” ® Set select switch on “B” <0
Press “Open” button to add 15 sec or ® Press “Stop” button the timer to close Q“/ d x-’u)
TIMER TO “Close” button to add 1 sec each time is reset to 0 sec but still is activated. %) -
eIz (max. 4 minutes & 30 seconds) ® To deactivate the timer to close 7 a
Set the select switch on 4 (T) or 5 (TS) completely set the switch on desired 6gl
mode position (0, 1, 2 or 3)
Default time setting 5 sec
Set select switch on “8”
Press “Open” to add 1 sec each time to
LIFé'IE-ﬁ'S a maximum of 15 sec. ® Set select switch on “8” and press
(Flashing Press “Close” to deduct 1 sec each time SCeZI:se to bring the flashing time to 0
Time) to a minimum of 0 sec. ) _ _
Press “Stop” to bring the flashing time * Oéssiﬁ;;hzsile;:vg'mh to desired
to 5 sec by default P 0.1 )
Bring back select switch on T (4) or TS (5)

8.4 Connection of Red and Green warning lights (if Warning Lights Module is sold separately)

To L&N on TB3
of BOARDO066

A A
To 1&2 on TB1
of BOARD060

A A

To L&N on TB3 of BOARDO066

A A

230/460/575V

Transformer
100VAC

115V AC

11 Ji

! For 115V AC lights only
i(on 230/460/575V operators)

TO #TB5 of
BOARDO60

@ L N RED

Warning lights Module
J4 ( )

GREEN

Traffic lights

RELAY 1 RELAY 2

J2

Fuse
4 Amps

Red

O

Green

_'_

COM

GRN .

For 115V AC lights on 115V operators only .

Installation instructions:

the light module

For 24V AC lights only (all voltage operators)

secured inside the control box.

set the light sequence.

Use the four support posts supplied to fix
e  Make sure that the module is properly

e Refer to the programming instructions to




29

WARRANTY “

Manaras warrants its operators to be free from defects in material and workmanship under
normal and proper use for a period of two years from date of invoice. Mechanical, electrical
and electronic accessories are warranted for one year from date of invoice. Wearing parts
such as clutch pads, v-belts, and brake bands are excluded from warranty.

Manaras’ only obligation shall be to repair or replace defective equipment which does not
conform to the warranty. Manaras shall not be liable for any injury, loss or damage, direct or
consequential, arising out of the inability to use the equipment. Before using, Buyer and/or the
ultimate User shall determine the suitability of the product for its intended use, and User
assumes all risks and liability in connection therewith. The foregoing may not be changed
except by an Agreement signed by an authorized representative of Manaras.

The articles that are replaced pursuant to the terms of this warranty shall be retained by
Manaras, and the User is responsible for any freight costs relating to repair or replacement.

The foregoing warranty is exclusive and in lieu of all other warranties of quality, whether
written, oral or implied (including any other warranty of merchantability or fithess for purpose).

The following are exclusions from warranty:

e If usage, product modification, adaptation or installation are not in accordance with our
installation and operating instructions.

« If the product has been opened, dismantled or returned with clear evidence of abuse or
other damage.

e If our written specifications are not properly applied by the Buyer when selecting the
equipment.

« If our written instructions for installation and wiring of the electrical connections have not
been followed.

* If our equipment has been used to perform functions other than the functions it was
designed to handle.

« If Manaras equipment is used with electrical accessories (switches, relays, etc.) that have
not been previously approved in writing by the Manaras Engineering Department.

« If electrical accessories and other components have been used in disregard of the basic
wiring diagram for which they were designed.

All costs related to installation and reinstallation of the Manaras equipment covered by this
warranty are not the responsibility of Manaras. Manaras will not be responsible for any
consequential damages during the following installation procedures. If the Buyer resells any
Manaras products to another Buyer or End-user, it shall include all of the terms and provisions
of this warranty in such resale. Manaras’ responsibility to any such Third Party shall be no
greater than Manaras’ responsibility under the warranty to the original Buyer.

Returns

No returns will be accepted without prior written authorization by Manaras. All returns must be
accompanied by a Return Authorization Number issued by Manaras, and all unauthorized
returns will be refused. The return shipment is to be freight prepaid by the Buyer, and under
no circumstances shall the Buyer deduct the value of the returned merchandise from any
remittance due. A restocking fee of 15% of Manaras sale price will be charged.



30

NOTES



31

NOTES



tor

Manaras-Opera is extending their well-known OPERA brand name across its entire line of Commercial Door
OPERAtors. Over the years, the OPERA brand name has become synonymous with innovation and reliability. The high
quality products you have come to expect from us will now be backed by the OPERA brand name.

When you think
Commercial Door OPERAtors,

just think OPERA.

Call us for more information
1-800-361-2260 www.manaras.com

Reg. T.M. of 9141-0720 Québec Inc.

BOOK144 REV 7 - 2010/08/29



